Topic: Do you agree with the following statement? In order to succeed, you should be more like others than be different from everyone else?

From the past to the present, success has most important issues for humans at all of the life circumstances. Actually, creatures wanted prosperous life that reached by success. The controversial question is to success as to whether people should be akin to others or be diversity from everyone. I am of the opinion that to be similar humans is not the feasible way for success. To support this, there are several reasons, two of which are going to be explored in the following.

First and foremost, variance in the humans causes to success. Because if people function are similar to others, success hasn’t mean else and doesn’t exist different.
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